Answers to Selected Problems

Chapter 12

12.1: (a) Net cash flows: (-$54,000; 27,830; 33,088; 30,929; 28,957; 23,627; 22,539)

12.5: Net cash flows: (-$84,000; 18,720; 34,752; 30,451; 27871; 27,871; 26,535)

12.12: $350,794

12.14(a): With working capital requirement, PW(15%) = -$1,084,423, IRR = 4.62%

12.17: Net cash flows: ($0; -1,394; 2,964; 30,929; 28,957, 23,627; 22,539)

12.28: (a) Option 1: PW = $161,320, IRR = 42.46%

                 Option 2: PW = $214,469, IRR = 263.35%

                 Option 3: PW = $170,092, IRR = 101.06%

(b) PW(15%)_buy = -$141,028

(c) PW(15%)_leasing = -$185,405

(d) Buy the tipping machine

